
 

AS28 ImpairmentofAssets

Decline invalue of Assets 1 8InfingAsset

Scape

This standard is applicable on all assets Except

Inventories AS 2

Assetsarising underconstructioncontracts AS7

Financialassets includinginvestments coveredunder As13

DeferredTaxAssets AS 22

2 When is an asset impaired
when is more than RecoverableAmount

Recoverable Amount

Higherof

D value in use Presentvalueoffuturecashflowsfromusingtheasset
2 Net sellingPrice



Eg ImpairmentTest
Parle G Itd

Biscuitsmanufacturing

machine Today if we sell thismachine 01.04 2 sells price401

Costofdisposal 2

MY esening cost
cost to sell

use infamine tomanufactureBiscuits Netselling Price 381

OronX2 Remaining lifeSyrs
cashflows Expected
fromusing themachineFutureYears Byselling biscuits DF 10 Presentvalue

1 101 0.909

2 15L 0.826

3 101 0757

Y 152 0683

5 121 Scrap 0621
value ifany 46701approx

value in use
Recoverable Amount on 010472

value in use 46 701

NetsellingPrice 381

Assume CA on01.04 2 SOL Given CA on 01.04 2 401 Given

RA on01.04 2 46701 RAon 0104 2 46701

Imp loss 3.31 Imp loss Import



Value in use

It is present value offuturecashflows expected to begeneratedfromusingthe asset
To calculate value in use we need two things

to u

Expected futurecash flows DiscountRate
Cashinflowsfrom using the asset use pre tax discountrate

less Cashoutflows ifany which are incurred egDiscountRatePretax 10

togenerate inflows Posttax 71

Eta Residual value of asset at the endof
useful life Addin lastyearcashflow

1890

He

Net sellingPrice

sellingPrice XXX

Costofdisposal sellscost cost to sell xx



Illust UR

Carrying Amount on 31 12 11 Fin lakhs

Costof PPE on 01 012009 40,000 life89ns Residualvalue 1000

less 3yearsDepm 14625

40000 1000 3ns
89s

CA the endof2011 25375

Value in use on 31 122011 5
5

Year cashflows D F 15 PV
2012 4000 0.870 3480
2013 6000 0 756 4536

2014 6000 0.658 3948

2015 8000 0 572 4576

2016 4000 10,00 0.497 2485

Scrap 19025approx
value

value in use 19025

Recoverable Amount on 31 121 1

Higherof
value in Use 19025 a

Netsellsprice 20000 Given

i RecoverableAmount 20.000



Impairmentloss
CA on 3112 1 25375

RA on 311241
s.ge Imp loss PII 5375Imp loss

TO PPE 5375

Revised
caddyingAmount

Revised CA on 31.12 1 20000 Remaininglife Syn Residual value 1000

Depreciation for2012
CA 3112 1 20000

ess Deprnfor20 2 13800 20000 1000 lyr
5yd

TreatmentofImpairmentloss

u

If asset is at cost model If asset is at RevaluktionModel

TransferImpairment First adjustImpairment lossfrom Bal

loss to Pll of RevaluationReserve ifany
u RemainingImp loss willbetrftoPIL.IEImploss PII

TOPPEIntangAsset ReferEgBelow



Eg PPE carried atRevaluationmodel

CA 100er PPEwas previouslyrevalued and has a Balanceof Sir in

RA 830 RevaluationReserve

Imploss 171 FirstadjRR uptoSer
Bal tf topie 12g

Imp lossRevaluathResend for

Imp loss Profit loss 120

TOPPE 17W

AfterImpairment Beelin Revaluation
Reserve NIL

11683 CDR Ein crores

Cost of PPEon 01.0420 0 For lifeFyn Scrapvalue NII

less yearsDepth For 4
Ker

CA on 31.03.44 CAon0104 4 3er

Fair value on 01.04.44 5 10er

Revaluationsurplus 2.10 or
to

RevaluationReserve 2.10or

RevisedCA on01.04 4 afterRevaluation 5 10er Remaining life Byrs

less Depmfor24ns
500 348 13sep

CA on 3103 6 1For
RecoverableAmounton31.3.76 0.790

Impairment loss 0.91or

Adjust from RevaluationReserve 0070or ImplossRR 0700

Bat Adjust from PIL 021W Icuploss PIL 0.21W

TOPPE 0.91W

Revised CA on 31 3 76 aftympairment 0.79



Balance in RevaluationReserve 2.10w

less ExcessDeprn fit toRefEarnings 104or

Beel in R R 0070or

The excessDepm
Deprn pa Before Revaluation Ier p a

Depree p a after
Revaluation 1terpa

ExcessDepr 0 7or

1 Jun cohaschargedexcessDeprnfor24ns
afterRevaluation

Toffrom RexRese to RetEarnings

it canbe zero

CanRecoverable Amount be negative

CA 100 er Imp loss will be full 100er
RA zero

value in use zero Given

Netselling
Price low

selling price zero

costofdisposal 10 or

sometimes
this ve lour is to be booked as liab under some other AS egAS29

Note Once asset is impaired the Depreciation changesprospectively6 is calculatedon

Revised carayingAmountafterImpairment



uro urhead ur10
I 1

Revaluation

ImpairmentTest
IWI
Costof PPE Day1 150 lakhs

less 4 YBDeppp.ac.inBasis 60lakhs 150 101 4un life toyrs

CA the endof Yr 4 90 lakh
Fair value the endof v4 75 lakhs

Revaluation loss 15 lakhs Trt to PIL

Revised CA afterRevaluation 75 lakhs Remaining life Gyrs
the endof Yr9

64.5 laklyRecoverableAmount Wm

Impairment loss 10 5 lakhs Tof to PIL

Mede is no bat is RR i full Imp lossof 105 lakhs will be tot toPIL

WI Recoverable Amount
value in use 60lakhs

Met sellyprice 64.5 lakhs
675C 3

Illus 7 AsperAS28 ImpairmentofAssets impairmenttest is to be conducted

by comparing carrying Amount 2 RecoverableAmount

If carryingAmount is more thanRecAmt then asset is impaired

In this case caddying Amount is 600,000 A RecoverableAmount is zero

i Full 6100,000 will be bookedas Impairment loss transferred to PIL



CarryingAmount 6 00,000

Ree And 0

Imp loss 600,000 Trf to Pll

ero Does notmeet legal requirements so cant beused

NetSeU9price 70000 SP is zero cost ofdisposal is70000

Illus 8

CalculateImp loss
CA 500

R.A 400 of XIU 400 NSP 375

Imp1055 100

Journal Entry

Imp loss Pll 100

TO PPE 100
IAI 2 entries Notrequired

Balance Sheet Extract

Tifcurrent
Assets

PPE 500

less Imp loss 100 400



Illus 10 Refer QB

Illus 11 UR

Cost of Plant 5 crores

less AccumulatedDepor 4.15crores

CA on 31.03 1 0.85crores

less CurrYear x1x2 Depm 0 25 crores

CA on 31.3.72 0.60 crores

RA on 313 2 0.245crores

IL 0.355 crores

313 1RA on 310342
NSP3103 2 24 lakhs 301 201

v14 310342 245lakhs 352C1301

01 4 1

CA on 31.3 2
RevisedCA on 31.3.72 afterImp loss 0.245 crores 24.5lakhs

Auntwritten off i e ImplossAmt 0.355 crores

Balin RR 0.12crores TreatmentofImp loss
First Adj againstRevalReserve 0.12crores

Bol Imp loss Trf to PIL 0.235 crores 0 355 0.12



If RecoverableAmtis zero
CA BeforeImploss on 310342 0.60crores

RA on 310342 Gum 0

Imp loss 0.60 crores

Revised CA latterImpairment 0

Wal
n

I value in use 0

MSP sus sells price 0 costofdisposal 2lakhs

0 02crores

ResearchPhase DexPhaseOnes

admired why'sÑ f s 311901121721lakhs 80 lakhsPIL 501 2219km He

chpitalise Capitalise

For31.3.18 Amount Trt to Pll a CA ofIntangibleAsset

Expenditure till 01.12.17 was incurredunderResearchPhase asperAS26
22 lakhs will be tofto PIL

Expenditure from 01.12.17to313 18 was incurredunderDevelopmentphase
28 lakhs will be capitalised

CA on 31 3 18 28 lakhs



For31.3.19 Amount tof toPll 4 CA ofIntangibleAsset

Expenditureduring2018 19 was incurred under developmentphase
i 80 lakhs will becapitalised

CA on 31.3.18 28 lakhs

4 DevPhase18 19 80 lakhs

CA on 313 19 108 lakhs

RA on 31.3.19 72 lakhs

Imp loss 36 lakhs

Amount tof toPIL Imp loss 36 lakhs

CA on 31.3.19 afterImpairment 72 lakhs

QIUishaTT.IE6 Whento conductImpairmentTest

fifties n ifeng.in
ConductImpairmentTestwheneverthere is a

Indicationaayatoh itdoesnotindication ofimpairment mean impairnogaya.I.infoheh9 itl

ExternalSources Internal Sources

Assetsmarketvalue has declined DPhysicalDamagetotheasset

signicantchanges in Technology Marketconditions 2 Assethasbecome idle or there is

which has Adverse negative effecton theentity a plan todispose the asset
MarketInterest rates have increased due to 3 Performanceofasset is worse

Chien PVof value in use mightreduce than expected

egCF 100 PY DF 1 4,59090 D
89.29 1



CashGeneratingunit Cau

To conductimpairmenttest of individual asset it is necessary tocalculate
value in use of that asset
Sometimes individualasset donot have individual value in use egIpadofAll Sir
i Individual assetimpairment testmight not be possible
In such case we will conduct impairment test as a CGI

Ctu is a
group

of assets thatgeneratescashflow togetherlegAllSia'steaching
setupA single company can have multiple GU's
Ipad laptop

Mie
Camera

90Impairmenttestingof a CGU
Can Laptop Camera Mic Ipad Total

CaddyingAmt Given 200 300 100 50 650

ecoverableAnt Given 520

up loss 40 60 20 10 130
13088 13038 13060 13058 Allocatebetween

All 9Assets in

the ratioof CA

evisedGA 160 240 80 40 520

afterImploss



Egf Goodwill Individual ImpairmentTest Notpossible
i Allocategoodwill to Cau'sforthe purposeof impairmentTest

Akita Can1 Ofkhingsetup laptop Camera Ipad
Co2 offlineteaching Furniture projector.mn

900mi 20000

Setup

Case Goodwill has case Goodwillprovides
benefit

Benefit is bothCGU's is bothCGU's but
in the ratio of 25 in GUI

9 757 in cGU2
gas p

it is notpossible to

Glueisallocable isunauocabfeateinanyrati.co

BottomupApproachBottomup Approach a Topdown Approach
Case Benefit in BothCGM 251 in Call 4 75 in CGU2

Call laptop Camera Ipad Goodwill Total

CA Given 101 5L 5h
pm

205h

ACriven 18L
ie 052 Cost 1054

mploss 2,51
21
2

21 2 21
2 1

Hanocate Bda
inglw

Offsetso.fr inCA
ratio

exisedCA 91 4 52 451 181

attImploss

21 751

And Furniture Projector Mic GW Total

AGiven 8L 41 4L 1.51 17.52

A Given 201

uploss



Case2 Gto is unallocable in Cau 192 Follow BottomupApproach Topdown
approach

20 Imp testing 2 times

Test individual cell's withoutGw
BottomupApproach

Caul Laptop Camera Ipad GW Total

CA Given 101 5L 5L 201

2A Given 18L

L L o.se 051 21 II in
all assets in
ratioofCA

exisedCA 9L 4 52 4.52 181

cauz Furniture Projector Mic GW Total
CA Given 82 41 42 161

A Given 171

Tip loss

M Combine Caul CHUL Goodwill Topdown approach

GUI GUI GW Total
it in

lap can Ipad
A Revised 181 161 21 361

A Given 35.51

Tuploss
052 0.5L Allocateto

GW
RevisedCA 181 16L 1.5L 35.5L



Eg3 Corporate Assets IndividualImpairmenttest not possible

eg Admission office i Allocate to Carl's forimpairment test

Caul onlineteaching laptop Camera Ipad 1914ft_10h
Akita

Care2 offlineTeaching Furniture ProjectorMic

u

CaseCorporateAssethas case CorporateAsset has
Benefit in BothCGu's Benefit in BothCGU's but is

in ratioof 301in CHUI not allocable in any ratio
70 in CGM2 Corporate is unallocable

CoophateAsset isallocable Two timestesting

Bottom up Approach Bottomup Topdown

Case in ratioof 301in CHUI 70 in call 2

101 301

Caul laptop Camera Ipad CorporateAsset Total

CA Given 10L SL SL 31 231

RA Given 201

Imploss
1.31 065 065 040 31 1staug

inloop31 104231 31 54231 31 5423 31 3423 Allocatein Asset
all assets
inratioofcarrying
Amount

evised CA 871 4352 4352 2.61 201



tox

Furniture Projector Mic CoopAsset Total

c en 81 4L 41 7L 231

2A Chiven

Imploss

2

Cases CorporateAssetis notallocable

wo timestesting

Test individualCarl's without corporate Asset Bottomup Approach

Caul laptop Camera Ipad Coopassett Total
CA Given 101 5L 5L 201

RA Given 18L

IL IL 0 51 051 i

RevisedCA 9L 4.51 452 181

442 Furniture Proj Mic Compassed Total
CA Given 81 4L 4L 161

RA Given 171

I L



1 Test GUI CGU2 Coop Asset Topdown Approach

GUI GU 2 Coop Asset Total

CA Revised 181 161 101 441

RA Given 461
L I

NO IL is
2ⁿᵈstageof
testing

Egs OneCAN one Coop Asset GW

Call Laptop Camera Ipad Corp Asset Gho Total

A Given 101 5L 52 101 21 321

A Given 251

L 167 083 083 167 21 71

axon 5252 5 54301 5 10
1 c

stallocate B st
inaw inother
21 Assets

RevisedCA 8.33 4.17 4.17 8.33



Solved Example1 LDR

CHUA Call B CGuc GW case itsallocable in
Az
in ratio ofDayo

failure
12test

7 impairment i e 1200800400

Coset Geo is allocable Bottom upTest

At theend of 20 4 ImpairmentTest of CAMA
CGUA Other Assets GW Total

CA 20 4 1300 60 1360

2A 204 1350

IL 10 10 Allocate inGW

RevisedCA 1300 50 1350

WE GW Allocation

Gen A B C Total
60 40 20 120
120 10 1200

28
1200 4

0

aseB Glee is unallocable 2timestesting Bottomup Topdown

is only A BU Testingnotasked byquestion
Time Individual Can withoutGw BottomupTest

CAMA other Assets Gf total

CA 1300 1300

2A 1350

I L



Ist Combine CanA can B CANC Gw TopdownTest Approach

CGUA B C GW T

CA 1300 1200 800 120

A Given 3400

up lose
20 20 Allocateingho

RevisedCA 1300 1200 800 100 3400

AllocationofImpairment loss in CGH

D 1ˢᵗallocate impairment losstoGlw of that call
2 Bal loss ifany will beallocated to other AssetsincludingCoopAssets

Ques3 LDR

Corporate Assets

HeadquarterBuilding
AsperAS28 individual impairmenttestof corporate asset is notpossible
Hence corporateasset is to be allocated to Carl's

In this case it is mentioned that corporate asset can be allocated to

individualCGU's i e A B C Therefore onlybottomup test is necessary

Research centre

since the carryingAmountof researchcentre cannotbeallocated to individualCall's
i topdown test will alsobedone in addition to bottomuptest



Fin lakhsAllocationof HeadquaterBuilding to Ctu A B C

1h0 lakhs Allocatedin the ratio ofcaddyingAnd 2 Useful life

I CICAI assumption

A B C

A 100 150 200

life 104ns 20yd 204ns

eightof 1000 3000 4000
AN life

vocation 18.75 56 25 75
of180lakhs 150 1 10 38 0

15049 0

Researchcentre Notallocable to individual CAU'S

stiest BottomupTest Fin lakhs

CoopAsset

Calla Other Assets HeadqtrBldg Total

CA 31.3.18 100 1875 11875

2A31318 199

Imp loss

CoopAsset

Club Other Assets HeadgerBldg
Total

CA31.3.18 150 56 25 20625

A 31318 164

up loss
3073 11 52 42 25

92.25 150206.25 4225 56.25
206.25

enisedCA31318 119 27 44.73 164



CoopAsset

Cauc OtherAssets HeadgerBldg Total

CA 31.3.18 200 75 275

A 31.3.18 271

Imploss
2.91 1.09 4
4 200275 4 75275

RevisedCA 19709 73.91 271

includesHeadate
Bldg

ndTestTopdownTest EFC Researchcentre

faf
Researchcentre Total

A Revised31318 11875 164 271 50 603.75

A 31.3.18 720

up loss

In topdown test there is no loss



Ques5 WR life Syrs life44ns

Call Other Assets Goodwill Total

CA31.3.16 6000 2000 8000

ess 24nsDepree Amorth 2400 1000 3400

6000 24
4

2000 24Yuan

CA31 318 3600 1000 4600
2A31318 WM 3459.4

Imploss 1406 1000 1140.6

RevisedCA31.3.18 3459.4 3459.4

Cainof value in use MSP notavailable Vin R.A

4rC.FD.F 81 PY

2019 800 0.926 74080

2020 800 0.857 685.6

2021 800 0.794 635.2

2022 600 0 735 441
2023 600 0.681 408.6

2024 500 0.630 315

2025 400 0 583 233 2

value in 34594 approxuse



8 Reversal ofimpairment loss
An impairment loss which was previously bookedon an asset can be

reversed in future

An impairment loss which is bookedonglue can bereversedbutsubject to
certain conditions Pleasenote if Syrs of goodwillhas lapsed then impairmentloss
ofgoodwill cannot be reversed If Imploss If Imploss

JE forReversal of Imploss Ppe Bookedin adjustedfrom

TOReversalof Imp loss pic
thenReversal thenRelish
alsothruPIL alsothruRR

Eg Reversalof Imp loss Individual Asset

PPEDay 01.04 2 200 life104ns
less2yrs Depp

20040 40

indicationof CA3103 4 160

Imp RA3103 4 120 Given

Imp loss 40 JE Imploss PIL 40

TOPPE 40

RevisedCA 31.03 4 120 Remaininglife84ns
afterImpairment

ess Depm 4 5 12 15

CA 31.03.75 105

less Depm 5 6 15

indicationof CA 3103 6 90

evcfhdp.at RA 31.03.46 140

Actual ReversalofImp 50 JE PPEAK DS 30

Mar Reversal ofImp 30 TOReversalofImploss PII 30



RevisedCA31.03 6 afterReversal 120 RemainslifeGyrs
90 3,9

Reversal

cone CainofMaxReversal of Imploss on 3131 6

D CA ifNOImp on 3131 6 120

usDeprn
807

CA afterImp on 3131 6 90

Max Reversalof I L 30

Eg

01.04 2 Cost 1000 life Syrs
less 14 Depor 200

31.3.73 CA 800

RA 650

Imp loss 150

Revised CA313 3 650 Remaining lifeGyrs
less lurDepm 3 4 1625 wereMaxReversal ofImploss

nelication CA31.3.74 487.5 CA on 313 4 ifnoJmp 600
effersal RA31.3 x 700 1000 RussPepin

ActualRevofImploss 2125
400

CA on31.3 4 afterJmp 4875
MaxRevofImploss 112.5

Max Reversal 1125

evisedCAon 313 4 600 4875 1125

afterReversal



Ques2EUR life15ps life Syn
Call Other Assets Goodwill Total

Endof2014 4000 2000 6000

essi4yrsDep.ro Amort 1067 1600

4000 44 2000 94
9

CA the endof2018 2933 400 3333

2A the endof2018 2720

Imp loss 213 400 613

RevisedCAafterImp 2720 2720
theendof2018 Remainslife lyrs

ess 24nsDepm 495
2720 24,4

A theendof2020 2225 2225

R.A theendof2020 3420

ActualReversalofImploss 1195
Max ReversalofImp loss 175

RevisedCA afterReversal 2400
theendof2020

2225 175

core MaxReversal of Imploss
CAofotherAssets if NoJump 2400 4000 64 Deprn 1600

the endof2020 4000 64
54

CAofotherAssets afterJmp 2225

the endof2020
Max Reversal 175

ReversalofImploss on goodwillcannotbedone as life ofgoodwill is onlySyrs But
on dateofReversal 6years have lapsed



Extra concept

If an individual asset is transferred to call forimpairment testing then

individual asset is impaired only if Carl is impaired
Individual asset will Not beimpaired in CGU is NOTimpaired

Its9

Idus9

Rough work

4
Machine other Assets total

3.46 er

RATHY saw

CGU

Notimpaired

Is my machine impaired1
If care not impaired then machinealso notimpaired



Q2 AS26

1ˢᵗ 5months ResearchPhase 10lakhs Trt toPIL

1ˢᵗsept2020 to 31ˢᵗMarch2021 Dev Phase 81 Capitalise

01.04.2021 CA 8Lakhs

01042021 RA 7.58lakhs wine

Imp loss 0.42

RevisedCAafterImp 758 lakhs

Wd canof value in use NSPNotavailable viu

R.A.urc.FD.F101 PV

I 21 0909 1.82

2 2L 0826 1.65
3 22 0757 150

4 21 0683 137

5 2L 0.621 124

value inuse 7 582 approx


